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QUESTION BOOKLET

This question paper contains 170 questions. /$F I THH 170 TH & |
All questions are compulsory. / T I3 31f4ard & |
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1.  As per IS 800:2007, unit mass of structural steel (in kg/m?) for use in design,

irrespective of its grade may be taken as :

IS 800:2007 % AR, TesreT o 39 o T Tmmrenes et & (fepa /o o) 318
Wﬁ,gﬂ%ﬁ@%ﬁfaﬁ%{ﬁ@ &% &9 1 o1 S gehat 2 |

(A) 7805 (B) 7850 (©) 7580 (D) 7085

As per IS 800:2007, in the design of truss members (jointed by welding) in
compression, depending upon the degree of end restraint provided, the effective
length of the member shall be taken as times the distance between the
centres of connection.

(A) 0.75t00.90 (B) 0.65t01.00 (C) 0.65t00.90 (D) 0.70t0 1.00 _
IS 800:2007 % HTER, Tfe § = geedl (afcen & Hc’l:éﬂ) 6 AR H,
feu U 37 gt Y fuft W syl wd gU Hewi i et TS SISt o hegl
& o= gl hi THT ot ST B |

(A) 0.7580.90 (B) 0.6581.00 (C) 0.65%0:90 (D) 0.70 % 1.00

As per IS 456:2000, the flexural strength of concrete (in N/mm?2) for the
characteristic cube compressive strength of 25 N/mm? will be :

IS 456:2000 % ITER, 25 N/mm? o Alenarfires o= ddeT amed & fore #ishie
ST | B |
(A) 2.50 (B) 0.35 (C) 3.50 (D) 0.25

As per IS 456:2000, in normal circumstances, where ambient temperature does
not fall below 15 °C and where OPC is used and normal curing is done, the
stripping time (in days) of props to slabs spanning up to 4.5 m may be taken as :
IS 456:2000 % 3TTAR, HHT i é), EH] T A9 15° § = T8l
T 2 92 OPC =1 39 feha SiTaT 2 3R "= gsned (sRnfar) feham Siar g, 4.5
e deh thel TAe T Y b1 fefom oy (feai ) AT S gsar 2 |

(A) 3 B) 7 (C) 14 (D) 21

In which of the following pairs, both trees yield soft wood?

(A) Chir and Deodar (B) Saal and Shishum

&C) Shishum and Chir_ (D) Saal and Teak

MO8 R S o, g JF g S ¢d & ¢

(A) g 3R ISR (B) &Mt 3R 3fem (C) 3w 3R =i (D) d1ed 3T AW

The pitch of a truss having effective span of 6 m and height of 1.5 m will be :
Teh ohell, Toreeh! wwTel! faegfa 6 W 3R =S 1.5 # g, o o= grft
(A) 4.0 (B) 0.50 (C) 0.25 (D) 2.00
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10.

11.

12.

13.

Weight of cement in a standard bag of cement available in the open market is :
(A 50 k§ net (B) 50 kg gross (C) 50kgtare (D) None of these
Lgc’l TSR 1 39Tt HHwe shi ATeh Aeit T HiHw2 ol 99

(A) 50Tpetie  (B) 50fpaim® (C) 50Theliex (D) & (D)sqﬁﬁﬁéqﬁ

Pressure of 10 m of head of oil, having specific gravity O. 90 is equal to :

ﬁa%loﬁsﬂéwm,ﬁﬂw%ﬁwwwoé = ST B |
(A) 90.00 KN/m2 (B) 88.29 kN/m? (C) 1000 kg/m?> (D) 882.9 kg/m?

Internal size of a water tank is 100 cm x 50 cm. The initial level of water in the
tank was 20 cm and it was raised to 50 cm in 15 seconds when water was
released into this tank through a pipe. The discharge of water into the tank is :

gt <t Zeh hl 3T A18ST 100 Tt x 50 i B | bl T UTHT ohT TRfeh T 20 Tt
wﬁgazﬁﬁwgmwmw 15 Hhrg | FGehL 50 Tl g1 | Toh! | S
(A) 10 litres/s  (B) 10 m3/s (C) 16.67 litres/s (D) 1.67 m3/s

An error of 2% in measuring H will produce an error of in discharge
over a trlangular notch. 5 .

HaﬁtlTlﬁ 2% @t Ffe T Frepmia T W fowsH § & qfe 3=
(A) 2% B) 1% (©) 5% (D) 4%

The aggregate impact value for road aggregates determined by using an impact
testing machine was found to be 25%. The type of road metal will be
categorised as :

(A) Strong (B) Weak

(C) Satisfactory (D) Excep‘uonally strong

Teh Heg, Teq0T A3 1 ST Hieh Heblc'ld qEh o fotu fgifca et Toe gea 25%
I TR | TS g T YR = €9 STfiehd feRaT ST

(A) & (B) frda (C) HaWeREd (D) AT Joe

While doing highway alignment and survey, the most appropriate first stage of
route selection is :

(A) Map study (B) Reconaissance survey

(C) Recci (D) Preliminary survey

T T 3T 07 hid T, T = 1 T8 IUYFH TgeAl Tl §

(A) a0 I=RE  (B) e TeEm (C) T (D) Trfires TaeIor

The amount of camber provided in a highway surface located in an area having
light rainfall is 1 in 60. The most appropriate road surface corresponding to the
provided camber will be :

(A) WBM (B) Cement concrete

(C) Earthen (D) Thin bituminous surface

gcTeh] aNT o] e%srfrf@m TSHT <hl @dg § >|<;|-1 fopu U SFR H AET 1 in 60 B |
e ShEeR & G T I TSh Hg

(A) WBM (B) = FHE (C) q\atq% (D) dac fegHi= wag

Code No. : C-552/2018/Series-A 4



14.

15.

16.

17.

18.

19.

20.

The type of frictional force that develops between mating surfaces when subjected
to external forces and there is relative motion between them is known as :

(A) Static friction (B) Angular friction

(C) Relative friction ) Dynamic friction

D
a@ﬂﬁ?ﬁ%ﬁwﬂ?éﬂﬂwﬁ%ﬁﬁaﬂémwmﬁucwﬁchmd Il & 37T 37k
o= arier Tifel ! ford I A ST ST R 2
(A) gk asu  (B) wufmayo  (C) Im@Eyer (D) Wb gyu

The height of free fall of cup while determining liquid limit by using
Cassagrande’s liquid limit device should be :

(A) lcm (B'L 0.5 cm (C) 2cm (D) 1.5cm
SHHUTE < AL HHT Jfad o ITANT GRT A HIHT HETRA Hd T Y o T T
&1 T3 B =fRT

(A) 19t (B) 0.5 ot (C) 2ot (D) 1.5 9wt

Dry density of a soil sample having bulk density 2.24 g/cm? and water content
12% 1s :

(A) 2% (B) 2.0g/cm?* (C) 0.5% (D) 5.0 g/cm?
ﬁ@w% T TSTeehT 3TRIAA ocdl 2.24 TTH/AHI3 3R a1 1 3791 12% &, 3Heh! Ih
Ydcd

(A) 2% (B) 2.0 Tm/a3 (C) 0.5% (D) 5.0 T/

The shear strength of a soil sample with cohesion = 60 kN/m?, angle of shearing
resistance = 45° and normal stress on soil 50 kN/m? will be :

HESH = 60 kN/m2, 3TT&90 Jfae shivl = 45° 3R T Tidesd 50 kN/m?2 a1
Tsh &1 o T 1 STTETU AT AT

(A) 10kN/m? (B) 110kN/m? (C) 1.2kN/m? (D) 120 kN/m?

The bearing of a line AB is 162°-30" and the angle ABC is 115°-15". The
bearing of line BC will be :

AB @1 &1 feha™ 162°-30" 3R =T ABC 115°-15, @ BC @1 1 fespd™ g
(A) 277°-45 (B) 97°-45' (C) 47°-15 (D) 295°-15'

The back sight taken on a B.M. (R.L = 500.000 m) was 3.415 m. The fore sight
taken on the next point (A) was 2.125 m. The R.L. of point A will be :

(A) 503.415m (B) 502.125m (C) 505.540m (D) 501.290 m

B.M. W o1 71 s €18 (R.L = 500.000 H) 3.415 =t 1 | 377 foig A o€ fetan
TRIT 37 ETEE 2.125 Hi o1, @ fig A T R.L. 81 -

(A) 503.41549 (B) 502.1254 (C) 505.540d (D) 501.290 #t

A road actually 2600 m long was found to be 2580 m when measured with a
defective 30 m chain. The correction required for the chain will be :

FTETE 1 Teh 2600 Hi st TS ST Teh 30 H GIoyul =+ o |1 A St &, A 2580
i <hl arf) STt 2 | 9 o6 foTu Strervaeh g9y g
(A) +233cm  (B) -233cm (C) +20.0cm (D) —20.0 cm
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21.

22.

23.

24.

25.

26.

When several contour lines coincide, they indicate a :

(A) Ridge (B) Valley (C) Vertlcal cliff (D) Overhanging cliff
Rt%a‘(@m‘awﬁ@?ﬁ% 3fira et . .
(A) %ﬁfr (B) =il ©) &-‘wfa@r—r (D) st =g

For an activity, optimistic time is 2 days, pessimistic time is 8 days and most
likely time i1s 5 days. The expected time for the completion of that activity by
using PERT will be :

(A) 2.5 days (B) 5 days (C) 3.75 days (D) 3.57 days

T Tifafy o foie smmemerd) w9 2 fe 7, Femard a9 8 fa7 & 31k gem 31fess
quTfed &9 5 T 2 | PERTWWWW@%%@WW@%W@?W
TR BT

(A) 2.5f@ (B) 5fe (C) 3.75f@ (D) 3.57 feA

The most appropriate term used for the amount which is issued to a subordinate
officer so that he could make petty payments of specified nature while
executing works under his charge is :

(A) Cash (B) Advance Imprest (D) Credlt

39 =TSl o dgd e fsarfed st Wﬁﬂ%& uegld%m"elc AT i, Teh STEfE
SRR o1 ST <k 7 Ui o forw g feran S are H®|H U -*eloq%

(A) Thg (B) 31fim (C) 3™ (D) SUR

The full form of TQM in context of basics of management is :

(A) Technical Quantity Management (B) Technical Quality Management
(C) Total Quantlty Management (D) Total Quality Management
wmﬁlﬁ émaﬁ TQMWT\T:IW%

(A) ¢°|-||°hc'| °r°||-dld| l-l-lvll-lv-d (B) ¢°|-||°hc'| °|°|I|

o

(C) e TN TS (D) e st

haNIaN haN

RN
N

STH

=
Al QD

The development that meets the needs of the present without compromising the
ability of future generations to meet their own needs is known as :

(A) Good Development (B) Sustainable Development

(C) Future Development (D) Smart Development

et it <hl d~1°bl = ﬁ STELAT oh qU i <h STHT oh T AHSIAT TohU foHT, FHM

Gl"@_{‘cﬁﬁ (- ST TeThTH haddl &
(A) aq—sm%ma (B) feopts faspmm (C) wireli faspr (D) wTe faspre

The most appropriate technical term used for the building that uses sun’s energy
for the heating and cooling of living spaces is called :

(A) Sun Friendly (B) Solar Passive

(C) Solar Intens1ve (D) None of these

Teh UHY $HA, Kl chlqm ST [ bl 3T 3T TRH i o foT¢ T ot T SEuTA HLd]
7, 1 Ta8 U qehiehl IT6C §

(A) ¥ 3gEet  (B) WRfAfrm  (C) @R (D) 37 & hig el

Code No. : C-552/2018/Series-A 6



27.

28.

29.

30.

31.

32.

33.

A stair having its bottom flight wide which is divided into two narrow flights
at the landing at right angles to the opposite directions is called :

(A) Dividing stair (B) Open well stair
(C) Bifurcating stair (]2% Assembly stair ’ .
e Hiel o 3geht el g =it 7, S faadia fesnai o ereaq o w ifen

72 2 Gehiot G # g 8, Saetrd 2
(A) fawfSa €l (B) gengudidt (C) fewifsa @it (D) et &l

The full length of a brick wall cannot be built at a time. The process of setting
back each successive course of this wall is known as :

(A) Toothing (B) Raking back (C) Block jointing(D) Joint setting
Teh 3¢ i AR Il TaTs | Th 1Y el o Fohal! | 38 IR o Tcdeh Shiteh GG ol
AT TH hl TTHT bl T ST & -

(A) i (B) GhiT & (C) AT S (D) STg-e T
The scaffolding in which two rows of standards are provided is known as :
(A) Brick Layer’s scaffolding (B) Double scaffolding

(C) Mason’s scaffolding (D) Both (B)& (C)

g ore &1 Hieh dferadi YQH shi STl &, FHaeTdl @ :

(A) FemEer (B) dEugE

(C) & et (D) (B) 3R (C) qH

A sloping roof having slope in four directions with a break in the slope is known as :
(A) Break roo%F%B) Mansard roof (C) Gambrel roof (D) Hopped roof
Teh TAdTell B L0 m%wmﬁw%ﬁ,mﬁgz

(A) s B (B) HEE®d  (C) W@ ®d (D) &S ®d

The clear horizontal distance between the inner faces of the two rails forming

a railway track is known as :

(A) Formation width (B) Carriage way

(C) Gauge (D) Face width

%\{%q <o ST STl G (el o ST Hetehl o sle s &S gl foher =19 | S
?

(A) i gy (B) ¥

(C) T (D) W gy

A hole of considerable size driven in the face of a proposed tunnel is called :
(A) Tunnel (B) Shaft (C) Adit (D) Drift

Teh SATTerd GO <hl Hg T HAT(eTd U JThR 6 Teh B ohl hal A1 & :

(A) g1 (B) = (C) (D) $

An important property which an earthquake resistant construction must possess is :
(A) Flexibility (B) Ductility (C) Brittleness (D) All of these

Teh HgweqUl TUTeH 1 ehd St fmior 7 g =nfan
(A) A (B) =l (C) 9an (D) 3w gt
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34.

3S.

36.

37.

38.

In context of earthquake analysis, the top storeys of a building are subjected to :

(A) Smaller forces (B) Same forces as other storeys
(®)) Larger forces (D) None of these

\ehy fergetyr o wexl #, suma o 3 afiret et o el et 8

(A) BIeTA (B) 31 ufsret S s/

(€) s (D) T i T

The unit of measurement for providing expansion or contraction joint in a
structure 1s :

(A) metre (B) sq. m. ©) each (D) no
Terelt TeeT B TR = Heper SaTE=e UM i o foTu ATy i 3ehTE © -
(A) TR (B) & Hiex (C) <l (D) I3 &

The incidental expenses of miscellaneous nature which cannot be classified
under any distinct sub-head yet pertains to the work as a whole is termed as :
(A) Exisgencies (B) Contingencies(C) Incidencies (D) Both (A) & (C)
fafay TR < STenfams =/ R fopet oft fafirse 3u—3fis % qga afieha &1 fepam s
TRl & JETU 0 T8 9 1 8 HEfod, Heaml & ‘
(A) TSN (B) &g (C) sHigdi (D) (A) 3R (C) gt

In analysis of rates, the quantity of dry mortar for 10 m3 of brick work is taken
as :

(A) 1m? (B) 0.1 m? (C) 03m? (D) 3m’?
T o TIoet ur #, 10 m3 < 3¢ M < oI I[ah AR 6t 7r o ST ® |
(A) 14#B (B) 0.1+ (C) 0.3 (D) 3B
Match List-I with List-II :
List-1 List-11I
P.  Section modulus 1. Tension
Q. Principal Plane 2. Slope
R Fixed End 3. Shear Stress
. Middle third rule 4.  Strength of section
q\%ﬁ 1 ! F=h-11 & e
kSIS, -1

P. I AT 1. @
Q. YHE u9ad 2. &R
R. TIEBR 3. 3UEIU gfiee
S. Wied ug & 4. e amA

P Q R S
A) 4 3 2 1
@ 3 1 4 2
< 4 1 2 3
Db 4 2 3 1

Code No. : C-552/2018/Series-A 8



39.

40.

41.

42.

43.

44.

45.

A beam is simply supported at ends on a span of 4 m and carries a u.d.l. of
3 kN/m on the whole span. If deflection at the centre of the beam is 8 mm, the
flexural rigidity of the beam section (in kNm?) is :

Teh A (4) 4 HiU o FA=R H R R YgTeafiard & 3R fored® H 3 kN/m T u.d.]. I8
HTE & | I &9 o ohrg 0 8 Tt forgraur 21, <t oftm T <ht 11 gl (kKNm2 H) @ :
(A) 1520 (B) 1250 (C) 1200 (D) 960

If a Young’s modulus of elasticity of a material is 210 GN/m? and stress is
210 N/mm?, the strain in the material section will be :

aﬁwwﬁwm SeITEIAT |1k 210 GN/m2 3R Uit 210 N/mm?2, at uered
@ug ¥ ferepfa grfl

(A) 0.100 (B) 0.010 (C) 0.001 (D) 0.011

In order to draw parallel lines, concentric circles and parallel curves, command
used in AutoCAD is :

AutoCAD T oI 1@V, Hehf5d I 3T FHITR 5k STREH o [T JTTC (FATE) & -
(A) Array (B) Parallel (C) Copy (D) Offset

The popular software used for structural analysis and design of Civil
Engmeermg structures is :

Tafearer ssifraftn sr=mTaTi o fesea 3R g=Tcnss fageryur o fu s&amTe 819 aren
('||°|'>|>I¢I thl'dclél‘\%
(A) STRAD.Pro (B) STAAD.Pro (C) STAD.Pro (D) STADD.Pro

The most commonly used admixtures which prolong the setting and harding
time of concrete are :

(A) Accelerators (B) Retarders

(C) Plasticisers (D) _Air Entraining Agents

ey 3k SEHTA R ST STet TS aer=it STl shshie ol HieT 3R 3 THY FeTd]
(A) (B) Teh

(C) TEETEE (D) TR T Toied

When kept in upright position, the dimensions in cm (in sequence of top dia,
height and bottom dia) of the slump cone used for determining workability by
slump test are :

waﬁ%ﬁ@ﬁrﬁ T AT 2 A9 qh&r0r gry shrisfierar faifd e 6 fore 3=
feRU 1T Tty 316 o At B (3N =, 3ars 3Tt =™ o 3TsRT |) | 319 BId &
(A) 10,20,30 (B) 103020  (C) 30,20,10 (D) 20,30, 10

The type of cement, most commonly available in open market in Himachal
Pradesh is :

(A) OPC (B) WhiteCement (C) Fibre Cement(D) PPC
TewTaret o1 o Gol ISR | STHAR T fohel Teh o HiH= 3Ts4 & 7
(A) OPC (B) @ dl=  (C) BEsHHA< (D) PPC

9 Code No. : C-552/2018/Series-A



46.

47.

48.

49.

50.

51.

Addition of too much water in the concrete may cause :

(A) Lower density (B) Excessive laitance
(C) Segregation (D) All of these
hishic § Sgd SATET T Slet & BT :

(A) H = (B) ¥8d SICT oiseH
(C) YR (D) I9Trerd Tt

The difference in level between the top of the canal bank and supply level in a
canal is termed as :

(A) _Freeboard (B) Berm (C). Supply depth (D) Height of bank
& H T8 S o MY WX 3 ATY(d &R b FAHI FFT AT G : .

(A) HI-drE (B) & (C) IS (D) s I AR
When NSL is below the bed level, the typical cross-section of the canal will be :
(A) Fully in cutting (B) Partly in cutting and partly in filling
(C) Fully in filling (D) None of these

W1 NSL o€ &€ 1= BId1 &, T8t s {17se shie-Herer g« ’ .
(A) I &9 & HTH (B) 3Tk &4 Y e T 3T A7 W 1
(C) &7 & WA | (D) IS ¥t T

Run-off increases with :

(A) Increase in infiltration capacity (B) Increase in permeability of soil
(C) Increase in intensity of rain (D) All of these

-3 (3A9aTE) forteh MU SgaT & ?

(A) 3d:TACH FHAT dg | (B) It <hl UTOTIAT Seq |

(C) aui < <fierat sig @ (D) 3@t

Egg shaped sewers are generally preferred over the circular sewers. The most
appropriate reason is :

(A) They avoid acidic effect of sewage.

(B) They have advantage of developing self-cleansing velocities near the base.
(C) They are less leaky.

(D) They are easy to built.

i AT <hl T8 STSTeRR ATeH hl STATHRAT € STl & | 36eh! THE R §

(A) 9% Hiast o 31T J9T9 8 s & |

(B) 3H 3N o UTH T THTE AT bl ferehférd i ST T 2 |

(C) 3uH 9 fE= BT 2 |

(D) TWEHHTAZ |

In a building drawing, for a load bearing brick wall of 300 mm thickness, the

depth of concrete block by using the rule of thumb may be taken as :

Teh SARA sl ST H, 300 mm 3hi HIITE o TR T&-1T 3 1 CER o AT, IS
T ITANT A ShshIe selleh ohl TEXTE ol fofaT ST |ehell & -

(A) 200 mm (B) 225 mm (C) 250 mm (D) 275 mm

Code No. : C-552/2018/Series-A 10



52.

S3.

54.

5S.

56.

57.

In a building, the water closet is provided for :
(A) receiving human excreta

(B) closing the supply of water

(C) storing the water to be used for flushing
(D) None of these

Teh 9o |, | 3=er =) Yo fehan San g ?

(A) HHE HA IegSH AT i o T |

(B) I i 31myfd &ig st o feru |

(C) WA | 39T o foTu 9Tt =1 Trg &6 & ot |

(D) Th ot &

The treatment of water which generally works on biological principles is called :
(A) Primary treatment (B) Pressure treatment

(C) Desilting treatment (D) Secondary treatment

el ITAR ST HTHTIA: SAfereh THgTdl W &9 oAl 8, Shadidl § :

(A) 9T IT=R (B) < IUTR

(C) g FehTem =1 3U=R (D) T IT=R

The important parameter(s) to be considered for selecting a pipe for water
distribution is/are :
(A) Pressure of water in the pipe ~ (B) Carrying capacity of pipe

(C) Durability of pipe (D) All of these .
T o e o fTQ S&qwTet 81 STell 9189 o < o fTY Agweyul J19es &
(A) YT T U 1 g (B) 1S9 hi a8 &wdl

(C) dTSY i feshrad (D) I8 @t

As per IS : 1172, the domestic demand (in litres) of water/day, under normal
conditions, for a family of 4 members will be :

IS : 1172 % 3THR, 4 HEHl o Ueh TNER o foTe a7 uftferfast 4 ot (foefex ©)
wfer fert <t sreg =i & -

(A) 540 (B) 520 (C) 500 (D) 480

The impurities due to which water gets taste, odour, colour and turbidity
generally come under the category :

(A) Phxsical (B) Chemical  (C) Bacteriological (D) Biological
ITI[GaT TST8eh SHIUT U T&Te, T8, TT 37 SATfAeTdr ITed il & SATHAR W 39 St
(A) wifaes (B) TE™{IH (C) sefenfsehet (D) SHaeh

A simply supported beam is having a clear span of 4 m, support width is
400 mm, overall depth of the beam is 450 mm and effective cover is 50 mm.
The effective span of the beam (as in limit state method) will be :

Teh S0 S YGTATES 7, 3T TIse foied 4 Hiet &1 8 | |qure <terg 400 finfi 8 | <fm
1 T TEE 450 ot B ST gTet et 50 finft 7 | s ot el forar (ot wee
fafa ) g -

(A) 4000mm  (B) 4200mm  (C) 4400 mm (D) 4700 mm

11 Code No. : C-552/2018/Series-A



58.

59.

60.

61.

If the area of steel to provided along short span of an RCC slab is 560 mm? and
dia. of bars to be provided is 10 mm, the centre to centre spacing of bars
(in mm and in multlple of 10) will be :
Ifg RCC =19 % {% < 1 TG Tl TRIT WId 1 &A%el 560 mm? § 3T
GeTral o ST 10 Tt & O Heral o g 8 o doh gt (mm H 3R 10 3 70Tk H) 2 -
(A) 140 mm (B) 130 mm (C) 120 mm (D) 112 mm
A truss member consists of ISA 100 x 75 x 8 mm connected to a gusset plate
by using rivetted connection. The gross dia. of rivet in the design of rivetted
joint may be taken as :

Th 8 HEE ISA 100 x 75 x 8 Tl o1 571 7 511 fiads e g T8e wic 4 Jei & |
{iaeg g i TewTed 8 {ae o1 ol A F1 o |ehd & 7
(A) 14.5mm (B) 18 mm (C) 19.5 mm (D) 20 mm
The following diagram shows a pin jointed steel truss. The force in the member
DE will be :

[ 3m

3m 3m Vsz

A B C

F E D
| e—>

. WL W YO, W O W W W O W W .

(A) Zero (B) 2 kN tensile
%ﬂ; 2 kN co ]%r_"esswe (D) 3kN tensﬂe
RCIFI g am%ﬁ 2 | 9¢= DE ¥ &t g1 :

[3m

3m 3m ¢ 2kN )
(A) (B) 2kN@H  (C) 2kN&®fgZ (D) 3 kN
Steps in the new project work follow :
(A) Location of final alignment, Map study, reconnaissance survey,
preliminary survey, detailed survey
(B) Map study, reconnaissance survey, preliminary survey, location of final
alignment, detailed survey
(C) Location of final alignment, Map study, reconnaissance survey, detailed survey
(D) None of the above
T U1 Rl o =T FrETER e E
(A) 3T TGO T TIH, TR L, el To&0T, TR Faleqor, forqa qaen
(B) TohSIT 37T, STl TeleAuT, SR TejeAu, Sife S@ i T, fereqa wemor
(C) aﬁnmww TR ST, Il T, foreqa wdeqom
(D) Teh ¥t T&

WL W YO . O W WL WL W \

F E D
(—)l%)
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62.

63.

64.

65.

Transition curve has a radius which

(A) increases from the infinity at the tangent point to a designed radius of the
circular curve.

(B) decreases from the infinity at the tangent point to a designed radius of the
circular curve.

(C) decreases from the zero at the tangent point to a designed radius of the
circular curve.

(D) None of the above

SR 56 shl B &It & S .

(A) I a3 bl fesrea Brsan o el forg W o G e 2 |

(B) I a5 <hi fesTre B o wom] forrg W 37+ & el 2 |

(C) I =13k o TesTe B o w9 fofeg W3 € ¥l 7 |

(D) T ¥t T

A vehicle has wheel base of 6 metres. What will be the off-tracking while
negotiating a curved path of mean radius 30 metres ?

(A) 0.8 mtr (B) 0.6 mtr (C) 0.2 mtr (D) 0.1 mtr

Teh AT ol UTeT 1 HATUR 6 HI 1 7 | 30 Hiet 6l 71ex Brsan & gaTagR 97 &l
TEY T THI IHeh! FH—dehiTT 941 BT 7

(A) 0.8 (B) 0.6 (C) 0.2t (D) 0.1

The free mean speed on a roadway is found to be 80 km/h. Under stopped
condition, the average spacing between the vehicles is 10 metres. What will be
the capacity flow ?

(A) 2000 veh/hour (per lane) (B) 800 veh/hour (per lane)

(C) 3200 veh/hour (per lane) (D) 2900 veh/hour (per lane)

Tsh AW T e H1eA T 80 Topi/eer utg Mg B | TR ¥, aTei o o= |
3fted gft 10 #1. 3 | &1waT a8 1 gh 7

(A) 2000 gra/EeT (Sfd o ) (B) 800 aTE/geT (Jfd o)

(C) 3200 argA/=eT (Ifd o) (D) 2900 aT&H/=reT (fd )

The shape and colour of speed limit signboard are

(A) Circular and having white background, red border and black numerals
indicating speed limit.

(B) Circular and having white background, black border and black numerals
indicating speed limit.

(C) Triangular and having white background, red border and black numerals
indicating speed limit.

(D) Circular and having blue background, red border and black numerals
indicating speed limit. s

wifg feAfire |15 1S 1 TR 3T - .

(A) TIATRR 3R RS T , AT SIEX 3 Tl HHT G HIeA 376

(B) TATehR 3TR Tthe , T SIS ST Tl FHHT &I Hiet 37

(C) TIehITTeRI 3R Hhe TSSYM, AT SISt TR 1T EHT g3 It 37k

(D) TR 3R el Ts3HfH, AT STt 3R Th T 21 it 37eh
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66.

67.

68.

69.

70.

Function of tie member in C.C. pavements is

(A) To ensure two adjacent slabs to remain fully together and not designed to
act as load transfer device.

(B) To ensure two adjacent slabs to remain fully together and designed to act
as load transfer device.

(C) To ensure two adjacent slabs to remain independent and not designed to
act as load transfer device.

(D) To ensure two adjacent slabs to remain independent and designed to act
as loadotr.ansfer device.

C.C. gu%ﬁa%;qglwwﬁgz @%m 2 e

(A) HH~A @ 9 Ush 9 gﬁ-%,m a'l'{:l'q?{
a B ag%m Qﬁ%%ﬁ%aﬁaﬁtaﬁgm

(B) HH~A g‘[?}
feamea < wu 4 % %m fesrga for man 2 |

(C) T AT Tid ol WA T o foTe gifvad i 3R e graw feasa & €9 4
el s L o feru fesired foran @ |

(D) T 3ATE Wid ol WA T o oTe gifvad i 3R e Zraw feamsa & €9 4
T L o foTu fesmea fepn T 2 |

The angle between the direction of star and the direction of earth’s axis of

rotation is called

(A) Co-latitude (B) Co-declination (C) Declination (D) None of these
3R gt 1 gt <l Ui <h TeeT <k S 3k hIvT i el AT & -

(A) &7 (B) aaﬂa (C) AaHfa (D) T ot &

The station where observations are not made, but the angles at the station are
used in triangulation series, is known as

(A) Satellite station (B) Pivot station

©) Mam statlon (D) Subsdiary station

Teh XM SR STTcAIeh & TohU ST fehrg TR T <hIvT 1 JIRT Frehivft €S 1 g &
(A) HARE WIF (B) TRAR &IF  (C) TE@W¥H (D) afedsl &

Which of the below joints is used for masonry in arches ?

(A) Butt (B) Dowel (C Table (D) Rebated
T 1 QI O SISl 1 S HEae | AT ?
(A) &2 (B) slaaA (C) éaa (D) fiaes

To ensure that supporting area of an offset footing of a boundary wall is fully
compressive, the C.G. of load must act

(A) at the centre of the base

(B) within the middle fifth of the base

(C) within the middle third of the base.

(D) None of the above

Teh 913G did o JTdoi UTg (auwd RENT) T AT &het IUf €9 § i g,
gifead o ot TR 1 Tocd g, 7T EHT AT

(A) 3R % &g T (B) 3TUR % HET U= & 7

(C) 3TER % ALY T o e (D) T4 © HI3 T
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71.

72.

73.

74.

75.

76.

77.

Which of the following curve is generally preferred to connect two lines
meeting at a very small angle ?

(A) Simple curve (B) Compound curve
%Ct’ Combined curve (D) Reverse curve
T H S H 5k I HHAR T T Fgd SIS HI01 T A aTeft &1 Al ol Sie

& fora gremferar <& st & 2
(A) AT (B) W@ ash (C) T¥Fash (D) Imadi ash

Beaufort scale is used to determine

(A) Speed of wind (B) Direction of winds

©) Dynamlc pressure head of flow %«m Static pressure head of flow

ShIC Thal T ITAM FAT TR ST & T fohan STt 8 7

(A) &l A (B) g bl femm

(C) vaTg 3 = et are (D) vaTg 3fiY 1 fer g

For a given discharge, the efficiency of sedimentation tank can be increased by

(A) Increasing the depth of tank (B) Decreasing the depth of tank

%{Q) Increasin, the surface area of tank (D) Decreasmg the surface area of tank
?ﬂaﬂmﬁﬁ tanl IOhH{-I g Tehdl & 7

(A) <= (B) 3 1 TS Tl

(C) i%aﬂwaémww (D) 3% I I &R T hT

Unit for deoxygenation constant is
A) perday (B) per hour (C) ppm (D) mg/L
w%vaﬁa%ﬂww §

(A) ufafea (B) srf%raa (C) g (D) frmn/fa.

Imhoff cone is used to measure

(A) Dissolved solids (B) Suspended solids
(C) Settleable solids (D) Total solids

I <h1 ST T W9 o fI¢ BT g 7
INBESIEK] (B) Frifera 3
(ORMELIRE (D) %1 3E

The amount of oxygen available in the effluent in any form to the total amount
of oxygen required in 1% stage of BOD is

(A) Theoretical oxygen demand (B) Total organic carbon

©) Relatlve stability (D) Relative BOD

BOD @ Ugct =01 H STTa93eh SIS hi et 01 H fenell oft &9 4 f-5@v1 1 3uetey
TS <l 7T B .

(A) 2AEhat TS i (B) et SAfereh e

(C) @mue feorar (D) dmUEd BOD

Sludge bulking can be controlled by

(A) Chlorination (B) Coagulation (C) Aeration (D) Denitrification
AT FoehiT R &1 Hehdl &

(A) FARHE  (B) Thed § (C) I & (D) SIS hehyH &
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78.

79.

80.

81.

82.

Wading technique is used

(A) To determine velocity of sea waves during Tsunami

(B) To determine thickness of canal lining

(C) To measure the volume of dredging material in harbours
(D) To determine velocity of flow in shallow streams

AT Tehee T SUFNT BT 2

(A) AT SR T a0t < 97 i ot o fofu |
(B) hHTe g+ Bt Hiers Frrerifid ot o fore |
(C) seumgl # gfom amft <t e sl arge % fog |
(D) 3Yet arRI3T | YT ol o (Heiid i o fore |

The maximum magnitude of shear stress due to shear force F on a rectangular
section of area A at the neutral axis, is

TS 31T W FABA-A o ATHR TS T TEIV §A F o HROT 31990 Ffcaret
o1 31ferehay aimr 3

(A) F/A (B) F2A (C) 3FRA (D) 2F/3A

In case of principal axis of a section

(A) Sum of moment of inertia is zero.

(B) Difference of moment inertia is zero.

(C) Product of moment of interia is zero.

(D) None of these

TE % J&T A& < AHA H

(A) TS SATEOT T I I 7 | (B) e 3ATeul &1 K I 7 |
(C) TSca ATl T PH I & | (D) Wk ¥t e

An accurate estimate of average rainfall in a particular catchment area can be
obtained by

(A) Arithmetic mean method (B) Isohytel method

(C) Normal ratio method (D) THIESSEN method

Tereft fersiy 31aTg & o 3fied ot o1 Tdieh ST fehaeh g Ted fohart ST AT 2 7
(A) guTa o1ed fafy (B) auayu fafy

(C) et 31T farfer (D) THIESSEN fafer

Water present in an artesian aquifer is usually

(A) at sub-atmospheric pressure

(B) at atmospheric pressure

(C) at 0.5 times of the atmospheric pressure

(D) above atmospherlc pressure

STHT SICTITE] | ST I STHAR T EIl &

(A) STAIHSHT T T (B) ollgl-lswlq CEICREEY
(C) IIHSE™ gamd @ 0.5 THT T (D) AYHSH caTE | HUW
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83.

84.

8S.

86.

Penman’s equation is based on

(A) energy budgeting only

(B) energy budgeting and water budgeting
(C) energy budgeting and mass transfer
(D) water budgeting and mass transfer
UFE ST FHTRTT T &

(A) e Sl I W

(B) ol SITfea 3T I SIstfen W

(C) S SAET TR G| 3T T

(D) U ST 3R e 31T W

A clay sample has a void ratio of 0.50 in dry state and specific gravity of
solids = 2.70. Its shrinkage limit will be

U gl & T I feufa | fifda S1gara 0.50 3R 3 w1 31mdfaes v = 2.70
2 | 35h! Hepe Him gt

(A) 12% (B) 13.5% (C) 18.5% (D) 22%

The field density and field moisture content of a soil can be determined by
1. Core cutter method 2. Sand replacement method

3. Proctor compaction test 4.  Modified proctor compaction test
(A) 1,2,3and 4 (B) 1 and?2 only

(C) 2and 3 only (D) 2 and 4 only

firdt bt & oea 3R & ) < A fordeh g et H S g 2

1. R fafy 2. STo] YA fafy

3. TR FEHA qhE 4. GENTed St dee- wliego

(A) 1,2,33W4 (B) whaet 1 32

(C) whad 2 3R 3 (D) hadt 2 3R 4

Consider the following statements :

1.  Poorly graded or uniform sands compact to low dry unit weights.

2. Heavy clays with high plasticity have very low maximum dry unit weight.

3. In clays soils, the maximum dry weight tends to decrease as plasticity
increases.

Which of these statements is/are correct ?

(A) 1,2and3 (B) land2only (C) 2and 3 only (D) 3 only

1 et W femam L

1. 3769 USS YT THEHM 1d, Y I (e TR T Ffd gl 7 |

2. W Hieht, TEeh! gaeeral 3= 8, S M+ I=aw 5 35 YL BT § |

3. feel § Ugaw Y5 WRYT ¥ed 8, T Feeadl Sgdl ¢ |

fadasaaad & -

(A) 1,233 (B) et 1 32 (C) Haar 2 33 (D) hadt 3
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87.

88.

89.

Match List-I with List-II and select the correct answer using the code given
below the lists :

List-1 List-11
a. Rails 1. Connect one section of rail to next
b.  Sleepers 2. Convert line load into uniformly distributed load
c. Ballast 3. Convert point load into uniformly distributed load
d. FishPlates 4. Convert rollin loads into pomt loads(s)
-1 ! F-11 | Tiremd 3R e o HIE Y HE WA -
-1 -II
a. i;gﬁ 1. A% Ueh @UE &l 3 8 Aedl 2 |
b. WiW 2. @1 WR ! 99H &9 § faaf@ YR # Fardie i @ |
c. WA 3. I YR %! THH €9 ¥ faaftd 9§ S91aid g |
d WmwiE 4. Ul 9R Sl fog WR § ST a3 |
Code/alﬁ's'
b ¢ d
(A) 4 3 2 1
@ 1 2 3 4
< 4 2 3 1
@ 1 3 2 4
A truss containing j joints and m members, will be a simple truss if
(A) m=2j-3 @B) j=2m-3 (C) m=3j-— (D)  All of these

W%ﬂlﬁjdl%&HﬁmW%lﬁ@Wﬁﬁﬁ
(A) m=2-3 (B) j=2m-3 (C) m=3j—-2 (D) 3J=h

Match List-I with List-II and select the correct answer using the code given
below the lists :

List-I List-1T
a. Parapetwall 1. Constructed with dry stone masonry encased in wire

mesh
b. Checkwall 2. To add the overall stability to the hill face
c. Breastwall 3. To buttress the uphill slopes of the road cross-section
d. Gabionwall 4. To give protection to the motorists
-1 %Fgﬁ 11 & e, W%ﬁﬁqmgﬁ;ﬁwﬁaﬁwgﬁ
-I1

a. WHUCA 1. ARSI H ol I T2 TS o ST Sran 2 |
b. = dalA 2. YISl Belsh <! gAY fRmdr 9¢H & fou |
c. =T 3. S hIY UM % EA-UBTS! Gl ol GRAT i o o7 |
d. Tfemadia 4. Her Tl e e o fu |
Codes/®IS :
a b c d
A 4 3 2 1
B) 1 2 3 4
C 4 2 3 1
D) 1 3 2 4
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90.

91.

92.

93.

Which one of the following tests is performed in the laboratory to determine
the aggregate resistance to weathering ?

(A) Soundness test (B) Crushing test

(C) Impact test (D) _Abrasion test .

i 35 T R P 5 3 R 3 8 < e ST R s 7
(A) HTHsAT gheao (B) shefi adieqor

(C) e wdero (D) VSIS wieror

What are the standards for testing of road macadam in Aggregate Impact Test ?
(A) 14 kg wt, 38 cm drop, 15 blows (B) 14 kg wt, 35 cm drop, 20 blows
C) 18 kg wt, 35 cm drop, 15 blows (D) 18 kg wt, 30 cm drop, 20 blows
e dequ H Ug HehgH TOI0T o Tt I Aeh & 7

(A) 14 fepum wror, 38 At g, 15 =A™

(B) 14 ferum wrwr, 35 At g9, 20 s

(C) 18 fopum wrur, 35 9t gU, 15 sl

(D) 18 fopum wron, 30 &t g4, 20 |

Match List-I (Measuring device) with List-II (Soil parameter) and select the
correct answer using the codes given below the lists.

List-I List-11
a. Pycnometer 1.  Compressibility
b.  Hydrometer 2. Permeability
c. Odeometer 3. Specific Gravity
d. Permeameter 4.  Partical size analysis

-1 (AT 3907 =l GHI-11 (F&1 T=e)  THere TR =i o = fou T i

YN hleh Tl I A

-1 RS
a. ToeieT 1.  gdisar
b. EEgHiR 2. YRl
c. et 3. fafire e
d. urHiTHR 4. U HATHR fageiyor
Codes/®'S :

a b ¢ d
(A) 2 4 1 3
B) 3 1 4 2
C 2 1 4 3
M) 3 4 1 2

In the consolidated drained test on a saturated soil sample, pore water pressure
is zero during

(A) Consolidation stage only

(B) Shearing stage only

(C) Both consolidation and shearing stage

(D) Loading stage . .

it T T T STHHT STeflcaTiid e i % G 19 3T e A BT 2 |
(A) =haeT STHhIUT =T (B) hadl ITIEYUT =T

(C) CIFI SIEehTT 3 ATEIU =0 (D) ISIRIT =0
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9.

9s.

96.

97.

98.

Settlement due to creep in soils is contingent on

(A) Primary consolidation (B) Secondary consolidation
(C) Initial settlement (D) Compaction settlement
Tordh o fermdor 6 awrg @ f-wmEA ST 8

(A) Uit et (B) fgdtar Sraeptor

(C) uRfYeh f:91eq (D) @t f:4meq

The earth pressure behind a bridge abutment is at

(A) Active (B) Passive

(C) Rest (D) Constant always and everywhere
SIS (I0T) STYR < e 92t <l golTdl BiT &

(A) wfsra (B) Tfesra

(C) fom (D) &heT R 31 T g

Which one of the following defects indicates progressive disintegration of
bituminous premix carpet surfacing by loss of aggregates ?

(A) Pot holes (B) Ravelling  (C) Edge breaking(D) Rutting

= 4 9 = ot st firerman < =1 gra fogfirt st shrefia geat o st foreres
! 3 LA & 7

(A) UeEE  (B) @l (C) washim (D) Wi

In a flexible pavement

(A) The vertical compressive stress is the maximum at the lowest layer
(B) Vertical compressive stresses decrease with depth of the layer

(C) Tensile stresses get developed

(D) Maximum stress induced by a given traffic load is dependent on the
location of the load on the pavement surface.

Teh I UaHe

(A) T8 f TR | Seater gdied yfdas g8 e 2 |

(B) &R i T o A1 Heaer Guie gideet Tedr 2 |

(C) o Ufdqaret o1 forepre B 2 |

(D) E&Ewwﬁﬁfwﬁwwwsﬁwmm%wm
|

Full amount of super-elevation on a horizontal curve is provided at the
(A) beginning of the transition curve (B) centre of the circular curve

(C) end of the transition curve (D) centre of the transition curve
&St sk T STRITCI <hl I HIAT Shal YgH hi ATl & 7

(A) TshHUT Tk hl IEATT H (B) I a5k o g H

(C) TshHU Tk & 37d W (D) GShHTT 5k o ohrg, UX
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99.

100.

101.

102.

103.

If the road surface is adequately super-elevated on horizontal curve, which one

of the following is the proper distribution of pressure on the vehicle wheels ?

(A) Pressure on both outer and inner wheels is equal.

(B) Pressure on inner wheel i1s more than outer wheel.

(C) Pressure on outer wheel is more than inner wheel.

(D) Pressure on inner wheel is twice than pressure on outer wheel.

afe TS 6l Tz sl a5 T T F9 8 STRicaied &, a1 $16 8 HH 91 a8
T G o1 3o forawon g 7

(A) T STRY 3R TN Uldi T GaTd §HH 2 |

(B) 31 dfedi W STEd fedi § g8 S 2 |

(C) & el T quTE T afedi 8§ ST 2 |

(D) 3TT=iTeh Ul T gad, STed ufedi § g 2 |

Assertion (A) : In an intersection design, the relative speed is dependent on the
absolute speed of intersecting vehicles and the angles between them.

Reason (R) : When the angle of merging is small, relative speed will be high.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true and (R) is not the correct explanation of (A).

(C) (A)is true and (R) is false.

(D) (R) is true and (A2 is false. .

ANTHAT (A) : T Ufc=esees fere o, gt nfa Ufaesee arei s feuer i 31k
3eh o=l o vl TR R |

Wélg : ST It <hI0 BIET 2 dd TTUE Tid SATe1 Bl 8 |

(A) THI (A) 3 (R) &l & 3 (R), (A) hl Tl =@ 7 |

(B) G (A) 3T (R) T 2 31 (R), (A) bl #el A T @ |

(C) (A)@EE, (R)Tedg |

(D) (R)E&E, (A)TTed 2 |

The suitable door for entrance in an air-conditioned building is a

(A) Revolving door (B) Louvered door

©) Collapsible door (D) Swinging door

Teh ITATRicTd SHRA H JoiST o o, ITh STl &

(A) MEX (B) g sk (C) whiaiftqad SR (D) TfAm R

In a brick noggin type of partition wall, the vertical wooden member are called
(A) Noggin (B) studs - (C) Sills (D) template

Teh 31T bR shl fI9ToH EaR 1§ FETER Aehel o T hl hal SdT &

(A) AIFE (B) =8 (C) ey (D) evete

When hooks are formed in deformed bars, the internal radius of the bend should
be atleast times the diameter of the bar.

et forepd T T go &d 8, 1 Hig <l 3Tl B s A A TR = I

T B =R |
(A) 2 B) 3 ©) 4 (D) 6
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104. In simply supported slab, alternate bars are curtailed at
(A) (1/5)%of the span (B) (1/6)th of the span
(C) (1/7)" of the span .o (D). (1/8) of the span
S[GI I ¥id H dehiodeh Gid fohdl T BIHd hl Il @ 7_
(A) ®HESH (1/5)d IR (B) T (1/6) 9 9T W
(C) T (1/7)d YT (D) =M % (1/8) 9 T W
105. A reinforced concrete slab is 75 mm thick. The maximum size of reinforcement
bar that can be used is
(A) 12mmdia. (B) 10 mmdia. (C) 8§ mmdia. (D) 6 mm dia.
Teh Jafetd hishie Tid 75 ot mier 8 | oo aR (B€) 1 1feehan d8s
fepa ST TehaT B, & 98
A 2mm=aE (B) 1I0mm=aIE (C) 8mm=IE (D) 6 mm =IH
106. Examine the following statements :
1. Factor of safety for steel should be based on its yield stress.
2. Factor of safety for steel should be based on its ultimate stress.
3. Factor of safety for concrete should be based on its yield stress.
4. Factor of safety for concrete should be based on its ultimate stress.
The correct statements are

%%ﬁ%mm@ 1 and 4 (C) 2and3 (D) 2 and 4

1. T o U &I T[ureh 39k YHd Yfdeiel 9T 3T gHT1 Iy |
2. Rﬁ?{%%ﬂ%&ﬂ iulch 3k TH fdad W T BT 18T |
3. Shlshie o foTT GUaTl TUreh 3oh qUYd Jfceet W 3N &HT 9Tfeq |
4.  oishic o foTu FaT Tureh 3Heh oW Jfdeel T 3G gH1 9Tfeq |
HEl e B
(A) 133 (B) 134 (C) 23R 3 (D) 2 3T 4
107. Match List-I (beam variable) with List-II (design provision) and select the
correct answer using the code given below the lists :

List-I List-I1
a. Flexure 1. Minimum depth of section
b.  Shear 2. Longitudinal steel reinforcement
c. Bond 3. Stirrups
d. Deflection _ 4. Anchorage in support )
-1 (9 =) Bl gA-11 (Feste yaem) 5 fireTsT 3R gledi & = fou g
ST hieh T&l ST T

-1 -1

a. 3THfd 1. @Ug i =IIqH T
b.  IUETU 2. e Hid yae
c. WIS 3. e _
d. faam 4. STERH 3T
Code/®TS :

a b ¢ d
(A) 3 2 1 4
@ 2 3 1 4
© 2 3 4 1
D) 3 2 4 1

Code No. : C-552/2018/Series-

>

22



108.

109.

110.

111.

In the case of isolated square concrete footing, match the locations at which the
stress resultants are to be checked, where d 1s effective depth of footing and
select the correct answer using the codes given below the lists :

Stress resultant Location
a. Bending moment 1. At face of column
b.  One way shear 2. At d/2 from face of column
c.  Punching shear 3. Atd from face of column
JTEHNTICE Tehal hIshic T oh HTHCT H, I8 LM 1 THAH i &l TReH! fcset S el

7, 8T d B Y g9rel Mg & 3R i feu e e 1 semTet ek el ST g ¢
giomy Sfee H

a. S JTEOI 1. &9 % et T
b. ek fe3r STuEgw 2. WY %ok ¥ d2 W
c. Toogu ey 3. WY HHAS T d W
Codes/®IS :
a b ¢
A 1 2 3
B) 3 1 2
C 2 1 3
M 1 3 2

An R.C. square footing of length 2 m and uniform effective depth 200 mm is
provided for a 300 mm x 300 mm column. The line of action of the vertical
compressive load passes through the centroid of the footing as well as of the
column. If the magnitude of the load is 320 kN, the nominal transverse (one
way) shear stress in the footing is

wh 300 Tt x 300 Tt ww o fore ofeg 2 . 3 weemE yumelt TEwg 200 fird
%1 RC a1 BT YEH i ST & | BIT oh ohrg o AT TH oh ohrg § SHEATUR TUTEH
R <61 foram T wifia it 2 | 3fe e w1 ufmmr 320 kN R, SiEe geed (T
TH) &IV Tfdadd B 4 §
(A) 0.26 N/mm2 (B) 0.30 N/mm? (C) 0.34 N/mm?2 (D) 0.75 N/mm?
A main reinforcement of an RC slab consists of 10 mm bars at 10 cm spacing.
If it is desired to replace 10 mm bars by 12 mm bars, then the spacing of
12 mm bars should be
(A) 12cm (B) 14 cm (C) 1440cm (D) 16 cm
RC &1 %1 9@ Y&iei 10 it 36 91 10 cm o6 3Ta0a W g | 10 et o6 e epr 12 Tt
Y Feeld il 3991 &, d 12 fpft e o e 1 31aque fepa=n g =nfze 7
(A) 12T (B) 14 @i (C) 14408ft (D) 169
The sleeper density of a BG track is (n+6) in metric units. The number of
sleepers per 1.024 km of track is
BG ¢ %1 SATR B (n + 6) Hgleh 3513 H & | Tl 1.024 TopHl o ¢oh o foTq Tl
EIRsC IR
(A) 1520 (B) 1630 (C) 1720 (D) 1800
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112.

113.

114.

115.

116.

117.

The torsional restraint can be provided by providing a

(A) web or flange cleats in the end connection

(B) bearing stiffeners acting in conjunction with the bearing of beam
(C) external support to the end of the compression flange

D) All of these . -
%ﬂ%‘ﬁﬁﬁﬂ S s TG TohT ST &bl & |

(A) 3T TrieRH H el AT et

(B) 1 % 9101 & HASH hrRIRfiel 93T Tead

(C) HEIIM TS o 37 | STel 3T

(D) I ot

Vertical stiffeners in plate girders are provided

(A) To increase bearing strength of web

(B) To prevent local bulking of the flange

(C) To prevent local bulking of the web

(D) None of these

I e | FEATER THA9 T fort S 2

(A) STt <1 fespum e sgH (B) Wit 1 TATHeh ST ST i
(C) Tt <l T SATehe ST S (D) $T0 o IS &l

Bending compressive and tensile stresses respectively are calculated based on

(A) net area and gross area (B) gross area and net area
(C) net area in both cases (D) gross area in both cases
bt Tfied 3TR a4 Sfaael i TTUHT shaT: T A R |
(A) g &R 3N FHeT &AH (B) T & 3TN LG &Ahe]
(@) H 3 &R (D) T § Fet ATHA
Economical depth of a plate girder corresponds to

(A) minimum weight (B) minimum depth

(C) maximum weight (D) minimum thickness of web
I TTEL 1 Hferd TS fhed T R 7

(A) =IH 51 (B) =™ e

(C) HgaH IR (D) ST @l =IaH TS

Gantry girders are designed to resist

A) Iateral loads .
B) longitudinal loads and vertical loads
C) lateral, longitudinal and vertical loads
D) lateral and longitudinal loads
feg s M E 7
(A) UT¥E-WR (B) 3Tced 9N 3 FEATeR 9K

(C) Urwdta, 3Meed N SR YR (D) IR 3TN T IR

A shaft is subjected to bending moment, M and a torque, T simultaneously. The ratio
of the maximum bending stress to maximum shear stress developed in a shaft is
Teh STUE b JATEOT M o |1 2T T A 7 | e H forenféra waam sehd et &
HE TTEIY Jdeel 1 1A &

(A) M/T (B) T/M (C) 2M/T (D) 2T/M
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118.

119.

120.

121.

122.

123.

124.

The Ratio of moment of inertia of a circular plate and that of a square plate for
equal depth is

A &S o [T I <ie 3R T T hl STScdl SATEU I 3TII &

(A) 4I1/16 (B) 2I1/16 (C) 3I1/16 (D) 11/16

Slenderness ratio of a long column is

(A) area of cross-section divided by radius of gyration

(B) area of cross-section divided by least radius of gyration
(C) radius of gyration divided by area of cross-section

(D) length of column divided by least radius of gyration
Th TS &I I HRAT 3TIIC &

(A) ufeymor B @ faanfa shra T 1 8w

(B) 4 T 1 ity Brean & faviiora seid-Heawe 1 8%
(C) hIE HERH o &hel | fauTird aiymor B

(D) =yaw ateywo B & fawiioa v i @&

At either end of the plane frame, maximum number of possible bending
moments are

(A) Zero (B) One (C) Two (D) Three
T ThY o ToRet oft B OX Hra ek SATEOl 1 Aferehan w7
(A) ¥ (B) T ©) @ (D) T

Which Mauryan king maintained relations with foreign powers for the first
time ?

(A) Brihadratha (B) Bindusara

(C) Ashoka . (D) Chandragupta Maurya

i ¥ URI T A TR dreRdi o |1y ueell SR EeY FR e 7

(A) TE5Y (B) fergam (C) 3% (D) 5T 7

The two important centres of Gupta sculpture were

(A) Mathura and Gandhara (B) Mathura and Sarnath

(C) Pataliputra and Uj iain (D) Gandhara and Ajanta

o Hfehetl 3 & HgweqUl g &

(A) TYT IR MER (B) WYY R AT

(C) dTefeTgd 3TR I=H (D) YR 3R =T

Who among the following was not a celestial god in the Vedic period ?

(A) Surya (B) Varuna (C) Indra (D) None of these
fre o 9 e @1 afges et w61 foed e 7@t o 2 . .
(A) g (B) ©) ¥ (D) 4 & g Tl
Who is known in history as the ‘Darvesh King’ on account of his simple habits ?
(A) Nasiruddin (B) Balban (C) Aram Shah (D) Bughra Khan
g™ | hH 31U 9t 3TTedi <6l Ioig ¥ TE TS o 98 J AT A1 8 7

(A) THRER (B) scfed (C) IMHME (D) U@
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125.

126.

127.

128.

129.

130.

131.

132.

The essence of Guru Nanak’s ideas is to be found in the

(A) AdiGranth (B) Janamsakhis (C) Japaji (D) None of these
% Ao 3 TorIT ST € FerEH 3T ST 8 ? .

(A) 3 e (B) SHErd!  (C) St (D) 378 ¥ IS T&

The greatest exponent of guerilla tactics in war, after Shivaji, is considered to be

(A) Balaji Vishwanath (B) Balaji Baji Rao

(C) Baji Rao-1 (D) Rajaram

TIrarsht % s1g TRIeT g Wi o1 gad g SfqdTge JHT 911 8
(A) STt forgemTy (B) STEATSH SIS

(C) WTiRE-1 (D) TSR

Who is the author of Indulekha (1889) ?

(A) Krishna Pillai (B) Chander Menon

(C) T.K.Madhavan (D) Neelakantan Menon
TGorET (1889) 1 @S i & 7

(A) IV fieas  (B) Je &M (C) &% mged (D) etehiad B

The Indian Association merged with the Indian National Congress in the year

YA € fohd |Te1 § WRA TP hid o ool gam ?

(A) 1886 (B) 1887 (C) 1890 (D) 1895
Which of the following continents was not a part of Gondwanaland ?
(A) Australia (B) Africa (C) Antarctica (D) Europe

751 © Q% IH W1 7RG, SIS <l 91T gl 1 ?
(A) sEferRn  (B) 3mhi (C) Terfesm (D) ZU

Fossils of animals, plants and other micro-organisms are found in

(A) plutonic rocks (B) sedimentary rocks
©) metamo;g_ilic rocks ) (D) igneous rocks
ITOft, FEAfd 3T 311 GEH-SMa] shi SaTed UTg STt &

(A) W 9gF (B) 3a@E 9gH (C) HRIARd 9gF (D) 3I-d 9gH

Which of the following periods winds is affected by El Nino ?
(A) Land and sea breezes (B) Monsoons

(C) Mountain and valley breezes (D) All of these
=1 5 9 %8 | 3rafy g, 31 A | yviiea g 2

(A) o T it (B) wray

(C) U=TE 3R =T s (D) 3 |t

Which of the following is not a greenhouse gas ?

(A) Nitrogen (B) Carbon dioxide
(C) Methane (D) None of these
e 4 8 o o fiered T e R c

(A) AT (B) IS SIS
(C) A= (D) 78 ¥ IS T
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133.

134.

135.

136.

137.

138.

139.

140.

Sakhalin island is a part of

(A) Japan (B) Russia (C) China (D) Korea
WITA 219 fordent Teh U 8 7

(A) STaH (B) W (C) =™ (D) =hifan
The ‘Nathu La’ pass is situated in

(A) Himachal Pradesh (B) Jammu and Kashmir

(C) Uttar Pradesh (D) Sikkim

“T o g hEl fRra g 7
(A) A=A Y (B) S 3TN (C) I Jew (D) Tafern

Which of the following states does not share the Godavari river ?

(A) Madhya Pradesh (B) Karnataka
&C) Andhra Pradesh (D) Gujarat
= o 9 I O TS & TMierai) e T8l Tt g ?

(A) TET I (B) T (C) Y T (D) TSR

Which of the following categories of forests occupies the largest percentage
area in India ?

(A) Coniferous forests (B) Deciduous forests

&C) Evergreen forests (\D) Thorny bushes

(=1 0 9 forg <hife o ST AT WG H 99 STeT foredr 2@ 7

(A) THIRIsd  (B) WK e (C) WeERaad (D) HIcgR Al

Very high intensity of irrigation is found in

(A) Malwa Plateau (B) Ganga-Yamuna Doab
(C) Eastern Uttar Pradesh (D) Central Bihar Plain

Sgd 3 diteral aTel! TS uTs et @ .

(A) TTET ISR (B) M-I gI3TTel

(C) Teff S e (D) 7eA forgr fem

The Koradi thermal project supplies power to

(A) Maharashtra (B) Kerala (C) Karnataka (D) Gujarat
RIS AT afner fohdt farega amyfd et 2 2

(A) HEWTS (B) (C) =uTiesh (D) TS
The force due to a magnet is

(A) wvariable force (B) same in different points
(C) electric in nature (D) None of these

S hd I Bidl &

(A) = §A (B) fur feigati o waM

(C) forgga wpfar =1 (D) ¥ & g 7

The penetrating power is maximum in

g%q sgﬁ.%a%ﬁ ga‘é(%-%a}?ls (C) PB-rays (D) Cathode rays
(A) o-femoi (B) y-fertmt (C) P-fertor (D) el foptui
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141.

142.

143.

144.

145.

146.

147.

The line where the earth seems to meet the sky is known as

(A) Vernal Equinox (B) Declination

(C) Horizon (D) Meridian

I5 1@ &t et TR i et wefid it 2

(A) T ST (B) femmma

(C) fafest (D) IR I

Iron is protected by coating it with a thin layer of which metal ?

gﬁ&% Lead (B) Copper (C) Zinc (D) Magnesium

HRET0T o foTq 3eH fopershl qael! wd orTS STt & 7

(A) € (B) e (C) = (D) FfRrE

Which of the following is used in photography ?

(A) Sodium sulphate (B) Potassium chloride

%‘(2’ Sodium bromide %D) Silver bromide
H ¥ S A1 BIIUTh! H $EUTA BlaT & 7

(A) Tifsam gethe (B) UM FARISS

(C) @feam simTss (D) TR

Citrus fruits are rich sources of

(A) Vitamin A (B) Potassium (C) Iron (D) Vitamin C
%l [ohEehl TG ?

(A) TefimA  (B) uefirm (C) <rar (D) faarfim C

The President holds office for a term of five years from the

(A) date of his election (B) date specified in the Constitution

(C) date notified by the Constitution (D) None of these

¥ 1= A1 hl AT % ToTC e e 3 |
(A) 3G & hl TG § (B) wfagm § ffce ailie 9
(C) fou™ # Afgea HI T aE (D) 390 9 hIg T8

The Ministers are individually responsible to the

(A) President (B) House of the people
(C) Prime Minister (D) None of these

Tt fermrep wfr s &9 & g @ & 7

(A) Tseufd (B) wrehay (C) gumE= (D) 78 O s &l

The Chief Justice of the High Court can be removed by the
(A) Chief Justice of the Supreme Court

(B) Same procedure as for the judges of the Supreme Court
(C) Governor

(D) Union Home Ministry

3 AT o &I =ATATENST ! §IAT 511 Tohdll &

(A) Tqfm e % & =T g

(B) | =hiE o =rrmfersti St war wfshan 3

(C) TR R

(D) = TeHHAT 5T
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148. The Seventh Schedule of the Constitution of India contains provisions
regarding
(A) Scheduled languages
(B) Oaths and affirmations
(C) Administration of Tribal Areas
(D) Union, State, Concurrent lists
Wl 3k iE B At e | fehereh Ty T qTEUE B 7

(A) ITHEd W (B) 7Y TH gfse

(C) SISITAT & T JRITEH (D) =, TS q guad! grast
149. What is the intermediate tier of the Panchayati Raj system called ?

(A) Zila Parishad (B) Taluka Panchayat

(C) Panchayat Samiti (D) Gram Sabha

Tl TS SHEET o HEeld] Tl ol 1 hed @ ?
(A) Nenuitwg  (B) Aen WA (C) 9=d Afffd (D) 319 991

150. During which plan was NABARD established ?

(A) Fifth (B) Sixth (C) Third (D) Ninth
TS o ST H TATIUd <61 718 2
(A) di=e (B) gt (C) o= (D) et

151. Of the various ways of financing Governments investment expenditure, the
least inflationary is

(A) foreign aid (B) deficit financing

(C) taxation (D) public borrowing
LRI o @ o fordiwn o fafay alien § gow %A Thifdsi & :
(A) ot agmma (B) 1 1 feradison

(C) = T (D) W& IUR

152. An ad valorem duty is a tax on the basis of
(A) the price of a commodity
(B) the unit of a commodity
(C) the advertisement expenditure
(D) the value added
TSR S¢] T 3TTNG S8 |
(A) FgHHT (B) TgH 3HE (C) fmmmwd (D) qea afia

153. Investment in public works is known as
(A) revenue expenditure (B) capital expenditure
(C) current expenditure (D) None of these
qTaStfeh Tt B a1 &bl ST ST 2
(A) TwE=E (B) Tfiem () I(=@d (D) T R
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154.

155.

156.

157.

158.

159.

160.

161.

A’s mother is sister of B and daughter of C. D is the daughter of B and sister of
E. How is C related to E ?

(A) Sister (B) Mother (C) Father (D) None of these
AT, BRTEAZIMCH TR ID,BRTNRINEH ag18 | C,ET A
Hela 3 7 . .

(A) =& (B) = (C) foar (D) 3 § 1$ el
In a certain code ‘PRISM’ is written as ‘OSHTL’ and ‘RUBLE’ is written as
‘QVAMD’. How will “WHORL’ be written in that code ?

wep fafarse wehd  ‘PRISM” &1 ‘OSHTL’ 3R ‘RUBLE’ &1 ‘QVAMD’ & &9 |
ottt STt 8, @ “WHORL’ <hl 38 Heba | 8 fet@n Sreem 7

(A) XIPSM (B) VINSK (C) UINSK (D) XGPQM

Giri river is the tributary of which river ?

(A) Yamuna (B) Satly; (C) Beas (D) Chenab
firfe 7t foper =) bl TETIh A1 2 7

(A) FgT (B) wagst (C) =& (D) =T
Lama Dal Lake is located in which district of H.P. ?

(A) Kinnaur &B) Kangra (C) Mandi (D) Chamba
femmare ye o fopm ftet o o = 3fteT (R @ 7

(A) TR (B) =iTaI (C) =t (D) ==
Pin Valley National Park is situated in which district of H.P. ?

(A) Kullu (B) Lahaul & Spiti

(C) Shimla (D) Solan

Temmreret wew & fopm et & o oeft Tdfia ST fa 2 2

(A) (B) e 3t wffa

(©) (D) e

First Woman Governor of H.P. was

(A) Sheela Kaul (B) Vidya Stokes (C) Leela Seth (D) None of these
ED] l‘I6C"|I J-IIS(’II TsIaTe off

(A) el (B) fenwmm (C) <fends (D) 3 ¥ g &l
Bahadurpur Fort is located in which district of H.P. ?

(A) Hamlrpur (B) Una (C) Bilaspur (D) Sirmaur
femmae yew o for Tt o w@TquR fopem e 8 ¢
(A) TRE (B) &1 (C) fererage (D) fawR

Which State Government has decided to create the post of ‘fire women’ to
break gender stereot % es ?
(A) Kerala I)) Karnataka (C) Gujarat (D) Haryana

ETRISE {-l{ohl{ﬁ|mllw?ﬁ“6%m§$@%m“wgm”qaﬁmaﬁw
faota fepa @ 2
(A) HA (B) T (C) TSHIa (D) i
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162.

163.

164.

165.

166.

167.

168.

169.

170.

Which section of Aadhar Act has been struck down by Supreme Court that
permit private entities to avail Aadhar data ?

(A) Section 68 (B) Section 57

(C) Section 55 (D) Section 59

o= =TT gR1 YR 3Tt <t fora e =t ger fean w7, St fsh gwens
I YR ST ITASH i ohl AT a1 & ?

(A) 9T 68 (B) &m 57

(C) wrss (D) &m 59

Which of the following cities was the venue of the International Water Colour
Festival 2018 ?

(A) Bhopal (B) Ranchi (C) Patna (D) Hyderabad
S a1l ol WEIaA 2018 ohl STRISH T 9 § § 9 |1 8T o7 7
(A) T (B) T (C) e (D) ZEUETe

Who has become the first-ever Indian shuttler to enter a badminton final at the
Asian Games ?

(A) P.C. Thulasi (B) Saina Nehwal

(C) Kidambi Srikanth (D) P.V.Sindhu

TS WAl o SSiied BIEAcd § Y31 i ITelT Go98 g1 T T A hid §1T 7
(A) .5, gemEh (B) G AgaTA

(C) Torgratt sfispier (D) di.&f. fayg

Meaning of the idiom ‘To hold in contempt’ is

(A) to hold firmly (B) to show anger

(C) tohate (D) to go together
Antonym of the word ‘Confess’ is

(A) wordy (B) disapprove (C) reject (D) deny
You cannot have someone relax you.

(A) at (B) in (C) with (D) for
MY + 37 =

(A) I (B) 3rfirar (C) 3T (D) T8 9 i3 A&l

‘R’ T TG AT &

(A) ket (B) ket (C) fefre (D) FefiaT
G VG &

(A) Spfea  (B) T (C) TPeet (D) Tkeet
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